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Two ways boost are needed.
①

②

Crossing angle

Radiative return 80 < mττ < 100 GeV
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ISR photon boost after boosted into NO Crossing angle frame
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 is collinear and have high ?τ − τ mττ

need to investigate the reason



θττ

before boost after boost
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ISR photon boost after boosted into NO Crossing angle frame

some global variables are not initialised..



Cone method Midpoint method

ECM/2 − Eτ
vis

(ECM − EISR)/2 − Eτ
vis

MC 80 < mττ < 100 GeV

Eν

Polarimeter Polarimeter

Polarimeter Polarimeter

τ → πν τ → πν

τ → πν τ → πν



Cone method Midpoint method
MC linked PFO 80 < mττ < 100 GeV

ECM/2 − Eτ
vis

(ECM − EISR)/2 − Eτ
vis

Eν

Polarimeter Polarimeter

Polarimeter Polarimeter

τ → πν τ → πν

τ → πν τ → πν



PISR

P1

P2

 : mass of  system̂ECM = ̂s P1 + P2

̂s = (P1 + P2)2

̂ECM ≠ ECM − EISR

Cone method Midpoint method

80 < mττ < 100 GeV

Polarimeter Polarimeter

τ → πν τ → πν



PISR =
ECM

2
β̄ β̄(X1, X2) = 1 − 2(X1 + X2) + (X1 − X2)2

where

X1 ≡ ( mISR

ECM )
2

= 0
with

X2 ≡ (
̂ECM

ECM )
2

∵ mISR = 0

⬇︎

̂Eτ =
̂ECM

2
=

ECM

2
1 −

EISR

ECM/2

80 < mττ < 100 GeV

̂ECM ≠ ECM − EISR

PISR = EISR =
ECM

2
1 − (

̂ECM

ECM )
2

→ ̂ECM = ECM 1 −
EISR

ECM/2

→ β̄ = 1 − (
̂ECM

ECM )
2



̂Eτ =
̂ECM

2
=

ECM

2
1 −

EISR

ECM/2

Eν =
ECM

2
1 −

EISR

ECM/2
− Eτ

vis

Polarimeter Polarimeter

τ → πν τ → πν

neutrino energy

Different from expectation…

expected shapeexpected shape



θvis
ττ

before boost after boost
boost into  rest frame after ISR photon emissionτ − τ

θττ θττ

MC vis tau daughter

MC tau

θvis
ττ

boost is wrong?


